) [pb/GeV]
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pr(£0) [GeV] & g 5 5 4 @ &8 2 O
0 2 03316 21073 048 0.16 075 1.0 069 0.02 031
2... 4 (0743 1.9 | 044 030 0.08 072 1.1 019 002 038
4... 6 |0811 1.9 | 043 030 0.21 064 11 013 001 0.39
6... 8 |0.755 1.9 | 045 032 0.26 069 1.1 016 002 035
8... 10 | 0.674 1.9 | 048 034 027 071 1.1 015 001 0.32
10... 12 | 0591 20| 051 036 028 0.86 1.1 020 005 035
12... 14 | 0521 20| 056 040 021 078 1.1 022 002 021

14... 18 | 0.4230 201044 031 033
18... 22 | 0.3297 21 1051 037 0.18
22... 28 |0.2494 21047 034 0.50
28... 37 |0.1733 221045 036 0.06
37... 52 |0.1027 231044 038 0.06
52... 85 | 0.0462 26 1044 039 0.02
85... 160 | 0.01116 30057 053 0.15
160... 250 | 0.001800 3.1 |12 12 0.06
250...1000 | 0.0000601 4.1 |23 23 045

073 11 028 0.02 0.36
081 12 030 0.05 040
086 12 039 0.05 031
091 13 049 010 0.35
082 13 074 0.16 046
086 14 12 020 0.50
1.1 16 15 027 0.59
087 18 082 0.13 0.36
082 19 078 012 046
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